
 

 

 

GABARITO DA LISTA 01 
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36   

𝑥 − 1

𝑥 + 9
=
16

36
 

36x – 36 = 16x + 144 
36x- 16x = 144 + 36 
20x = 180 
x = 180/20 
x = 9 
AB = 10 + 9 – 1  
AB = 18 
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20
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20x =  480 
x = 480/20 
x = 24 
PCED = 16 + 20+24 
PCED= 60 
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x 2,5 
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– x 

𝑥

10 − 𝑥
=
2,5
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10x = 2,5(10 – x) 
10x = 25 – 2,5x 
10x + 2,5x = 25 
12,5x = 25 
x = 25/12,5  
x = 2 

10

2,5
=

𝑦

1,5
 

2,5y = 15 
y = 15/2,5 
y = 6 

4 m 

1,5 m 12,3 m 

x 
1,5

4
=
12,3

𝑥
 

1,5x = 49,2 
x = 49,2/1,5 
x = 32,8 
 
Falta caminhar 32,8 – 12,3 = 20,5 m 
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=

4

20
 

20x – 60 = 16x − 32 
20x- 16x = – 32  + 60 
4x = 28 
x = 7 
PABC = 20 + 17 + 20  
PABC = 57 
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j)                                                                                                         k)  
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35 

12

21
=

𝑥
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21x = 420 
x = 420/21 
x = 20 
 

16

16 + 𝑦
=
12

21
 

192 + 12y = 336 
12y = 336 – 192  
12y = 144 
Y = 12 

4,2m 

x 

7,2m 

11,2 m 

7 

7,2

7
=
𝑥 + 7,2

11,2
 

7x + 50,4 = 80,64 
7x = 80,64 – 50,4   
7x = 30,24 
x = 4,32 

x 

4,5 m 

60 cm 

40 cm 

𝑥

0,60𝑚
=

4,5𝑚

0,40𝑚
 

0,4x = 2,7 
x = 2,7/0,4 
x = 6,75 m 

ATENÇÃO!!! 
Para resolver uma proporção, 
os valores precisam estar na 
mesma unidade. 
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4x = 3 + 1,5x 
4x – 1,5x  = 
32,5x =  3 
x = 2,5/3 
x = 1,2 m 
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10x = 256 
x = 25,6 
R = 26 m 
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10 
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10x = 6x + 18 
10x – 6x = 18 
4x = 18 
x = 4,5 
 

Atri= 
𝑏.ℎ
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Atri= 
𝑏.ℎ
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Atri= 6 x4,5/2 

Atri= 13,5 
 


